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T= &g 3= e ol Z4H| Sl 12 H
olgl 2/3|
2 7l2e 3 12 217,934,000 6,053,722
=0 X5 2 ZH| 2 12 9,006,000 375,250
ks =B FaPSEEL] 2 12 6,577,000 274,042
71254 2 12 2,040,000 85,000
&Y 1 12 1,440,000 120,000
MY FEF ] 3 2 7,400,000 1,233,333
Sdg 2 2 2,400,000 600,000
A7t AbH| 2 1 3,037,000 1,518,500
ZEdaE72%) 1 1 500,000 500,000
HEREES Aret = 2 12 10,800,000 450,000
HLEH 3 12 7,500,000 208,333
A% 1 1 1,136,000 1,136,000
g A 269,770,000
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Heg 234 e
HE MEl 2™ H™7|olE HEs CH5l of x—ialo;ﬁm ol:r (o] 20oH 7|DE<;XO HEs A8
o ol X
_Ic_,r.ég HE=TT $7gq||(a) A‘”‘j:'—LH% S Ol A —||:|—|(b) DOHI_E A|'o—|(':) |_|'—|
o =W = AbgUYY | (d=a+b-9 | qdojy | 3dojyy | sdolf | 1oulofLy 10440] 4 Al(e)
b 0 0
= 0 0
e gef 0 0
E|Z 0 0
SRR 0 0
o 0 0
OISR AR Ex—lEx-|7|
FIES TEHaOoOLYULE o= ad QoulE
aksy 0 N 162,549,000 oy MR 2l 162,549,000 (HH&H|S 0 0
o) et 0 0
RS 0 0
HEEES O = OTAt HFEFEE
ENEX|METI|2(16,057,234,779 Al 198,460,000 |, o, s 888,796,000 xlel 15,366,898,779 0 | 500,000,000 [ 600,000,000 | 700,000,000 | 1,000,000,000 | 2,800,000,000
i} = =] i)
A 16,057,234,779 0 |361,009,000 1,051,345,000 0 | 15,366,898,779 0 | 500,000,000 [ 600,000,000 | 700,000,000 | 1,000,000,000 | 2,800,000,000




